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ue.1 Fill in the following blanks . 10
(1) f:N—= N defined by f(z) = 2z. then Re= i,
(@) {1357} (b) {481216..} (o) {2468..) (d) {3,6,9,12,...}
(2) f:N—= N defined by f(2) =2z + 1. then Ry = ..ooooooevrooroo.
(8) {1357} () {3579,.} (e {24683 (@) {3,6912..}
B) I f:N-=N defined by f(z) = 22 and g:N— N defined by g(z) = 23 then fog(x)=..cvvn.0.
(@ a® (b) 2* {(c) «° (d) None of these
(4) Set of all Zero’s of Sine ANCHON 18 .evvorvvvreeeer
@ {@k+1)T \keZ) (b)) 0 (o {2kr \kc Z} (d) {kn \k ez}
(5) tan®0 — sec?§ = .ovvvvoroerro

(&) =1 (b) 0 {c} 1 (d) cosec?d

(a) ~ros8 (b) sin 6'- {¢) —sin@ (d) cosd

2 3]
1 4]

(a) E ﬂ (b} ﬁ ?j (c) B i] {(d) None of these
0 0,
0 0

(aj Identity matrix (b) Zero matrix (¢) Row matrix (d) Column matrix

() It A= [ then AT = ...

(8) If A= {

(9) If T = (cosa,sine) ,j = {cos A,sin B) then [T + [F] = ..oooevocrrren.,
1m0 2 @) -1
(10) If %= (cosa,sina) ,j = (cosﬂ,sinﬁ) then |Z|[7] = oo

(& 1 () 0 {& 2 (&) -1

@ ¢ PTo)




Que'.“z Answer the following { Any Ten ) e e . 20
(1) Define Composition of function with example .
(2) Siplify 7log(8/5) - 6log(4/15) + 3log(5/72) .
(3) Prove that 1+ cot?§ = cosec? f.

(4 A= [; 2} then find A+ 247 . Isit symmetric"? .

(5) Solve =(1,2) +9(2,1) = (3,3) .
(6} Evaluate }(1,2,3) + (1,1,3)} .
(7) Let f: N2 N defined by f{z)= 5z — 3. Is it one - one 7 Is it onto 7 Verify it .

B U R=R defined by f(z) =2*—1andg R— R defined by g(z) = 2z — 3 then find fog
and gof . :

(9) Express log101000 = & in Exponential form .

(10} State properties of determinant .

. 4 6 -2 1 2 1
anIA=|2 0 2),B=|0 14 then find 24 — 3B and A+2B .
1= 2 0 2 3 4

(12) Iz = (1,0, ),7={,2-1),%= (1,2,~1) then find (27 + 37) - Z.

Que.3 (a) Solve 2z(x —7) = 3(2-x). 5
(b) Find conjugate and Modulus of (—3—2i)%. 5
OR
Que.3 (c) Solve (3+z)* =4z -1. 4
(d) If f: R — R defined by f(z) = (z+ 2,9 R = R defined by g(z) = =z +3 and
h:R - R defined by h(z) = —3x then find fog , go(foh}, (gof)oh hoh . 6
1 .
Que.4 (a) Solve 3 log(11 -+ 4v/7) = log(2 + %) . . 5
' 1—tanf\® 1+tan®d
] — ) = 3]
(b) Prove the (1 — cot 3) 1-+cot?
OR
Qued (c) Solve logio(Tz — 9)2 + logio(3z — 4> =2 . 5
(d) ¥ cosd —~sinfd = v/2sin @, then prove that cos8+sinf = V20058 . 5
1 a bidc
Que.s (a) Prove that 1 b c+al=10. i
‘1 eoa+b

)



oy A= 12 3| B=1® 2| then prove that (AB)! = B1A-",
1 4 1 2

OR
Que.5 (c) Solve 2z + 3y = 7,4z — y = 9 by using Cramer’s rule.

sind cosd
~cosd sinf

(d) A= [ ] then prove that A=! = AT .

Que.6 (a) Find the measure of the angle between (1,-1,-2) and (2,-1,1) .
M Iz=(-1,1,2),7=(,2-1), 2= (2,-1,1) then find T x (¥ x 7).

OR
Queb ()T =—i—7,F=j+k,Z=k—ithenfind (TAT), FAZ), FZAT)

(d) Find direction angles for (—1,-1,0) ; (3,~4,0) .
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